
MATHS

BOOKS - TARGET MATHS (HINGLISH)

MODEL QUESTION PAPER-I

Mcqs

1. The equation  represents a pair

of straight lines passing through the origin . The two lines

are

A. real and distinct if 

B. real and distinct if 

3x2 + 2hxy + 3y2 = 0

h2 > 3

h2 > 9

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gIFc77Wc4pVh


C. real and coincident if 

D. real and coincident if 

Answer: A

Watch Video Solution

h2 > 12

h2 > 3

2. 

A. 

B. 

C. 

D. 

Answer: C

∫ dx
e5 logx − e4 logx

e3 logx − e2 logx

e.3− 3x + c

e3 logx + c

+ c
x3

3

+ c
x4

4

https://dl.doubtnut.com/l/_gIFc77Wc4pVh
https://dl.doubtnut.com/l/_ywjTI0vbdiIG


Watch Video Solution

3. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos 20∘ . cos 40∘ . cos 60∘ cos 80∘ =

1

16

3

16

√3

16

√3

32

https://dl.doubtnut.com/l/_ywjTI0vbdiIG
https://dl.doubtnut.com/l/_mHQ9uefSMc4B


4. Find the equations of the diagonals of the square

formed by the lines 

A. y=x,y+x=1

B. y=x,x+y=2

C. 2y=x, 

D. y=2x,y+2x=1

Answer: A

Watch Video Solution

x = o, y = 0, x = 1andy = 1.

y + x =
1

3

5. The combined equations of the pair of lines through the

origin such that one is parallel to x+5y=5 and the other is

https://dl.doubtnut.com/l/_vi0LWysoSWmS
https://dl.doubtnut.com/l/_jTBRx9MRuZQ0


perpendicular to x-5y+15=0 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + 25xy + y2 = 0

5x2 − 36xy + 5y2 = 0

x2 − 25y2 = 0

5x2 + 26xy + 5y2 = 0

6. If f(x)  then :

A. 

B. f(x) is continuous at x=1.

= ,    ...x ≠ 1

= 2,                 ...x = 1

x2 − 4x+ 3

x2 − 1

lim
x→ l

f(x) = 2

https://dl.doubtnut.com/l/_jTBRx9MRuZQ0
https://dl.doubtnut.com/l/_HtpGoDy7ztHl


C. f(x) is discontinuous at x=1.

D.  does not exists.

Answer: C

Watch Video Solution

lim
x→ l

f(x) = 2

7. The equation of the hyperbola whose foci are (-2, 0) and

(2,0) and eccentricity is 2 is given by

A. 

B. 

C. 

D. 

x3 − 3y2 = 3

3x2 − y2 = 3

−x2 + 3y2 = 3

−3x2 + y2 = 3

https://dl.doubtnut.com/l/_HtpGoDy7ztHl
https://dl.doubtnut.com/l/_XRaPNXbHYCSQ


Answer: B

Watch Video Solution

8. The statement  is

A. a tautology

B. a contradiction

C. equivalent to 

D. equivalent to 

Answer: C

Watch Video Solution

~(p ↔ ~q)

p ↔ q

~p ↔ q

https://dl.doubtnut.com/l/_XRaPNXbHYCSQ
https://dl.doubtnut.com/l/_qLnaq0T5lSRW
https://dl.doubtnut.com/l/_dF9jxAClCYS5


9. The relation  defined in  as  is divisible by a

is

A. Reflexive but not symmetric

B. Symmetric but not transitive

C. Symmetric and transitive

D. None of these

Answer: A

Watch Video Solution

R N aRb ⇒ b

10. If Ram secures 100 marks in maths, then he will get a

mobile. The converse is

https://dl.doubtnut.com/l/_dF9jxAClCYS5
https://dl.doubtnut.com/l/_M8KgYqEEqBVp


A. IF Ram gets a mobile, then he Will not secure 100

marks

B. If Ram does not get a mobile, then he will secure 100

marks.

C. IF Ram will get a mobile, then he secures 100 marks

in maths.

D. If Ram does not get a mobile, then he will not score

100 marks.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_M8KgYqEEqBVp


11. Find the general solution of each of the following

differential equations: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos x(1 + cos y)dx − siny(1 + sinx)dy = 0

(1 − sinx)(1 + cos y) = c

(1 + sinx)(1 − cos y) = c

(1 + sinx)(1 + cos y) = c

(1 − sinx)(1 − cos y) = c

https://dl.doubtnut.com/l/_d0FVWKsm88zA


12. The value of c in (0,2) satisfying the Mean Value

theorem for the function  is

equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = x(x − 1)2, xε[0, 2]

3

4

4
3

1

3

2

3

13. If ,then ϕ(x) = log5(log3 x) ϕ' (e) =

https://dl.doubtnut.com/l/_DIrdbdZTaUXL
https://dl.doubtnut.com/l/_LSEEMG7BCFTM


A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

log5 e
1

e

log5 e

e loge 5

14. 

A. 

B. 

C. 

∫
2

0
√ dx =

2 + x

2 − x

π + 2

π +
3

2

π + 1

https://dl.doubtnut.com/l/_LSEEMG7BCFTM
https://dl.doubtnut.com/l/_jYFyFDqFV4lk


D. 

Answer: A

Watch Video Solution

π − 1

15. The matrix is invertible.

A. For all real values of 

B. only when 

C. Only when 

D. only when 

Answer: C

⎡
⎢
⎣

λ 1 0

0 2 3

0 0 λ

⎤
⎥
⎦

λ

λ = ±
1

√2

λ ≠ 0

λ = 0

https://dl.doubtnut.com/l/_jYFyFDqFV4lk
https://dl.doubtnut.com/l/_BnAYIC3Dn9gk


Watch Video Solution

16. The angle between the line  and the plane

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 î + 3ĵ + 4k̂

r̄. (3 î + 2ĵ + 3k̂) = 4

45∘

0∘

cos − 1( )
24

√29√22

90∘

https://dl.doubtnut.com/l/_BnAYIC3Dn9gk
https://dl.doubtnut.com/l/_oxKI1XjbSIuU


17. If normal the curve y=f(x) is parallel to X-axis, then

correct statement is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= 0
dx

dy

= 0
dy

dx

= 1
dx

dy

= 1
dy

dx

18. The position vectors of the point  are A, B, C and D

3 î − 2ĵ − k̂, 2 î + 3ĵ − 4k̂, − î + ĵ + 2k̂ and 4 î + 5ĵ + λk̂

https://dl.doubtnut.com/l/_gSq4e0U6i45a
https://dl.doubtnut.com/l/_huUTKtClXUcM


, respectively. If the points A, B, C and D lie on a plane, find

the value of .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

λ

−
146
17

146
17

−
17
146

17
146

19. IF a coin is tossed twice and X is the number of tails,

then E(X)=

https://dl.doubtnut.com/l/_huUTKtClXUcM
https://dl.doubtnut.com/l/_VadgjLXJba41


A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

20. If  for  then 

A. 

B. 

tn = (n + 2)(n + 3)
1

4
n = 1, 2, 3, ....

+ + + .... + =
1

t1

1

t2

1

t3

1

t2003

4006
3006

4003
3007

https://dl.doubtnut.com/l/_VadgjLXJba41
https://dl.doubtnut.com/l/_lEOoQIG7tAvp


C. 

D. 

Answer: D

Watch Video Solution

4006
3008

4006
3009

21. The rate of change of surface area of a sphere of radius

r when the radius is increasing at the rate of 2 cm/sec is

proportional to

A. 

B. 

C. r

D. 

1

r

1

r2

r2

https://dl.doubtnut.com/l/_lEOoQIG7tAvp
https://dl.doubtnut.com/l/_vEDagI40EGaK


Answer: C

Watch Video Solution

22. If the position vectors of the points  are 

 respectively, then the position 

are

A. Collinear

B. Non-collinear

C. Forming a right angled traingle

D. None of these

Answer: A

Watch Video Solution

A, B, C

ā, b̄ and 3ā − 2b̄ A, B, C

https://dl.doubtnut.com/l/_vEDagI40EGaK
https://dl.doubtnut.com/l/_VmHhJuRz9PKr


Watch Video Solution

23. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx =
sin3 2x

cos5 2x

tan4 x + c

tan 4x + c

tan4 2x + x + c

tan4 2x + c
1

8

24. IF  and , then  is equal toA = [
x 1

1 0
] A2 = I A− 1

https://dl.doubtnut.com/l/_VmHhJuRz9PKr
https://dl.doubtnut.com/l/_4OSLQLQLvGz8
https://dl.doubtnut.com/l/_TAk7av9IkCk1


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[
0 1

1 0
]

[
1 0

0 1
]

[
1 1

1 1
]

[
0 0

0 0
]

25. The order of the differential equation of the family of

parabolas whose axis is the X-axis is

A. 

B. 

+ ( )
2

= 0
d2y

dx
2

dy

dx

y( ) − ( )
2

= 0
d2y

dx2

dy

dx

https://dl.doubtnut.com/l/_TAk7av9IkCk1
https://dl.doubtnut.com/l/_QmKscQELAYWG


C. 

D. 

Answer: C

Watch Video Solution

y( ) + ( )
2

= 0
d2y

dx
2

dy

dx

y2( ) + ( )
2

= 0
d2y

dx2

dy

dx

26. What are the direction cosines of the y-axis ?

A. (1,0,0)

B. (0,1,0)

C. (0,0,1)

D. (0,-1,0)

Answer: B

https://dl.doubtnut.com/l/_QmKscQELAYWG
https://dl.doubtnut.com/l/_TfDmPrScBo0l


Watch Video Solution

27. IF ,then is

A. 

B. 9y

C. 

D. 

Answer: D

Watch Video Solution

y = cos2( ) − sin2( )
3x
2

3x
2

d2y

dx
2

−3√1 − y2

3√1 − y2

−9y

https://dl.doubtnut.com/l/_TfDmPrScBo0l
https://dl.doubtnut.com/l/_cKw1jzwUWveq


28. A fair coin is tossed 
 times. if the probability that

head occurs 6 times is
 equal to the probability that head

occurs 8 times, then find the value of 

A. 15

B. 14

C. 12

D. 7

Answer: B

Watch Video Solution

n

n.

https://dl.doubtnut.com/l/_G4CYZv3hIdlC


29. The probability that at least one of the events 

occurs is 0.6. If 
 occur
 simultaneously with

probability 0.2, then find 

A. 0.4

B. 0.8

C. 1.2

D. 1.4

Answer: C

Watch Video Solution

AandB

AandB

P (A) + P (B).

https://dl.doubtnut.com/l/_gL13UrBCyDAW


30.  (a)  (b)  (d) None

of these (c) 

A. tan 

B. tan 

C. tan 

D. tan

Answer: A

Watch Video Solution

=
cos 9∘ + sin 9∘

cos 9∘ − sim9∘ tan 54∘ tan 36∘

tan 18∘

54∘

36∘

18∘

9∘

31. 

A. 

e−x = y(1 + tanx + tan2 x)
dy

dx

logy = ex tanx + c

https://dl.doubtnut.com/l/_FInIuOVlPIbX
https://dl.doubtnut.com/l/_Zyp10t6m1gre


B. 

C. 

D. 

Answer: A

Watch Video Solution

logx = ey tany + c

tanx = logy + c

tanx = logy + c

32.  is equal to

A. 

B. 

C. 2

D. 

∫
π / 6

0

dx
sinx

cos3 x

2

3

1

6

1

3

https://dl.doubtnut.com/l/_Zyp10t6m1gre
https://dl.doubtnut.com/l/_OXuj67FmZ2u4


Answer: B

Watch Video Solution

33. Prove that the lines  and 

 are coplanar. Also find the

equation of the plane containing these lines.

A. Parallel

B. perpendicular

C. coplanar

D. non-coplanar

Answer: C

Watch Video Solution

= =
x

1

y − 2

2

z + 3

3

= =
x − 2

2

y − 6

3

z − 3

4

https://dl.doubtnut.com/l/_OXuj67FmZ2u4
https://dl.doubtnut.com/l/_ySmuMqOs0ECf


34. In a triangle ABC,

 then the area of

the triangle is-

A. xy

B. 2xy

C. xy

D. 3xy

Answer: C

Watch Video Solution

if a = 2x, b = 2y and C = 120∘ ,

√3

https://dl.doubtnut.com/l/_ySmuMqOs0ECf
https://dl.doubtnut.com/l/_fz9bzdWBzfUP


35. IF , then the value

of x is

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

tan− 1(1 + x) + tan− 1(1 − x) =
π

2

−1

π

36. IF , then the general value of  will

be in

tan. mθ = tan. nθ θ

https://dl.doubtnut.com/l/_8xYdOczYXh5b
https://dl.doubtnut.com/l/_DXwtavPT3Oqa


A. A.P.

B. G.P.

C. H.P.

D. None of these

Answer: A

Watch Video Solution

37. The minimum value of  is

A. 75

B. 50

C. 25

(x2 + )
250

x

https://dl.doubtnut.com/l/_DXwtavPT3Oqa
https://dl.doubtnut.com/l/_9JVlTcfXTyX8


D. 55

Answer: A

Watch Video Solution

38. Area bounded by the curve  which is

bounded by the lines  and  is

A. 4sq.units

B. 1sq.units

C. 2sq.units

D. 3sq.units

Answer: C

f(x) = cos x

x = 0 x = π

https://dl.doubtnut.com/l/_9JVlTcfXTyX8
https://dl.doubtnut.com/l/_jg9Rb6xOIYkd


Watch Video Solution

39. If 
and 
, find 
.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = t2 y = t3 d2y

dx
2

3

2

3t

2

3

4t

3

2t

https://dl.doubtnut.com/l/_jg9Rb6xOIYkd
https://dl.doubtnut.com/l/_Wu867PHk2ckQ


40. The area bounded by the parabola  and X-

axis is

A. sq.units

B. sq.units

C. sq.units

D. sq.units

Answer: C

Watch Video Solution

y = 4x − x2

30

7

31

7

32

3

34
3

41.  is a solution of the differential equation

A. 

y = a +
b

x

x2 + = 0
d2y

dx
2

2dy

dx

https://dl.doubtnut.com/l/_tV59WYZAU6KW
https://dl.doubtnut.com/l/_ypS6ADJm6TT7


B. 

C. 

D. 

Answer: B

Watch Video Solution

x + = 0
d2y

dx2

2dy

dx

x2 − = 0
d2y

dx2

2dy

dx

x − = 0
d2y

dx2

2dy

dx

42. The line  is parallel to

A. XY-plane

B. YZ-plane

C. ZX-plane

D. X=3

= =
x − 2

3

y − 3

4
z − 4

0

https://dl.doubtnut.com/l/_ypS6ADJm6TT7
https://dl.doubtnut.com/l/_FfDHwmHbv7hV


Answer: A

Watch Video Solution

43. 

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 4

−π / 4
x3 sin4 xdx =

π

2

π

4

https://dl.doubtnut.com/l/_FfDHwmHbv7hV
https://dl.doubtnut.com/l/_PGSKowiQ2aVx
https://dl.doubtnut.com/l/_Txm7vA2D194k


44. If A is an obtause angle, then

 is

always equal to

A. 1

B. -1

C. 2

D. -2

Answer: B

Watch Video Solution

+ − 2 tanA cot A.
sin3 A − cos3

sinA − cosA

sinA

√a + tan2 A

45. ∫ dx =
logx

x3

https://dl.doubtnut.com/l/_Txm7vA2D194k
https://dl.doubtnut.com/l/_TPvEJzaestG3


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2 logx − 1) + c
1

4x2

− (2 logx + 1) + c
1

4x2

(2 logx + 1) + c
1

4x2

(2 logx − 1) + c
1

4x2

46. IF  term of a H.P . Is  and  term is , then its

 term will be

A. 

B. 

5th
1

45
11th

1

69

16th

1

89

1

85

https://dl.doubtnut.com/l/_TPvEJzaestG3
https://dl.doubtnut.com/l/_IUaOdWKOiUk0


C. 

D. 

Answer: A

Watch Video Solution

1

80

1

79

47. Cosine of the angle between the lines

and 

is

A. 0

B. 

C. 

D. 

r̄ = 5 î − ĵ + 4k̂ + λ( î + 2ĵ + 2k̂)

r̄ = 7 î + 2ĵ + 2k̂ + μ(3 î + 2ĵ + 6k̂)

1

2

19

21

1

3

https://dl.doubtnut.com/l/_IUaOdWKOiUk0
https://dl.doubtnut.com/l/_59IQQYVa76Ck


Answer: C

Watch Video Solution

48. IF the distance between a focus and corresponding

directrix of an ellipse be 8 and the eccentricity be , then

length of the minor axis is

A. 3

B. 

C. 6

D. 

Answer: D

Watch Video Solution

1

2

4√2

16√3

3

https://dl.doubtnut.com/l/_59IQQYVa76Ck
https://dl.doubtnut.com/l/_pJiR4rovuLGF


Watch Video Solution

49. Find the direction cosines of the vector 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 î + 2ĵ − k̂

, ,
2

3

1

3

1

3

, ,
1

3

1

3

2

3

, ,
1

3

−2

3

2

3

, ,
2

3

2

3

−1

3

50. A circle  passing

through  is concentric to the circle 

x2 + y2 + 2gx + 2fy + c = 0

(4, − 2)

https://dl.doubtnut.com/l/_pJiR4rovuLGF
https://dl.doubtnut.com/l/_i7y61rv4y0f4
https://dl.doubtnut.com/l/_fWHV49oG0FrA


 then the value of c will be

A. -4

B. 4

C. 0

D. 1

Answer: A

Watch Video Solution

x2 + y2 − 2x + 4y + 20 = 0,

51. In a  , if a b and c are in AP ,then the value of

 is

A. 1

ΔABC

sin sinA

2
C

2

sin B

2

https://dl.doubtnut.com/l/_fWHV49oG0FrA
https://dl.doubtnut.com/l/_76lKggtNIAOn


B. 2

C. 

D. 

Answer: C

Watch Video Solution

1

2

−1

52. The expression

 is equal to

A. -1

B. 0

C. 1

+ + +
cos(10π)

13

cos(8π)

13

cos(3π)

13

cos(5π)

13

https://dl.doubtnut.com/l/_76lKggtNIAOn
https://dl.doubtnut.com/l/_JhyEI8WGYsf9


D. None of these

Answer: B

Watch Video Solution

53. If the equation  represents a

pair of lines then : 

A. 10

B. 15

C. -5

D. -10

Answer: B

kxy + 10x + 6y + 4 = 0

k =

https://dl.doubtnut.com/l/_JhyEI8WGYsf9
https://dl.doubtnut.com/l/_AmPbhxlcsRHP


Watch Video Solution

54. What are the points on the x-axis whose perpendicular

distance from the line  is a

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

+ = 1
x

a

y

b

[ (b ± √a2 + b2), 0]
a

b

[ (b ± √a2 + b2), 0]
b

a

[ (a ± √a2 + b2), 0]
a

b

https://dl.doubtnut.com/l/_AmPbhxlcsRHP
https://dl.doubtnut.com/l/_XrWBCYwVTpYw


55. The value of  is

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
−

log(secθ − tan θ)dθ

π

4

π

4

π

4

π

π

2

56. Let X= ,D=  and 


, if , then X is equal to

⎡
⎢
⎣

x

y

z

⎤
⎥
⎦

⎡
⎢
⎣

3

5

11

⎤
⎥
⎦

A =
⎡
⎢
⎣

1 −1 −2

2 1 1

4 −1 −2

⎤
⎥
⎦

X = A− 1D

https://dl.doubtnut.com/l/_OefbpydfYDhx
https://dl.doubtnut.com/l/_ogu1LGhfxNzp


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

1

0

2

⎤
⎥
⎦

⎡
⎢⎢⎢
⎣ 0

⎤
⎥
⎥
⎥
⎦

8
3

− 1

3

⎡
⎢⎢
⎣

1

0

⎤
⎥
⎥
⎦

− 8

3

⎡
⎢⎢
⎣ −1

⎤
⎥
⎥
⎦

8
3
1
3

57. IF  then y'(1) is

A. 0

y = tan− 1
⎛

⎝

⎞

⎠

√x − x

(1 + x)
3
2

https://dl.doubtnut.com/l/_ogu1LGhfxNzp
https://dl.doubtnut.com/l/_gqBzIIvv3gtS


B. 

C. -1

D. 

Answer: D

Watch Video Solution

1

2

−
1

4

58. Which of the following is not true always ?

A. IF f(x) is not continuous at x=a, then it is not

differentiable at x=a

B. IF f(x) is continuous at x=a, then it is differentiable at

x=a

https://dl.doubtnut.com/l/_gqBzIIvv3gtS
https://dl.doubtnut.com/l/_80eKPfX259HC


C. If f(x) and g(x) are differentiable at x=a, then f(x)

+g(x) is also differentiable at x=a.

D. If f(x) is continuous at x=a, then  exists.

Answer: B

Watch Video Solution

lim
x→ a

f(x)

59. If

A. 0

B. 1

C. 2

y = tan− 1 √xY (2) + y2 + cot − 1 √x2 + y2, then =
dy

dx

https://dl.doubtnut.com/l/_80eKPfX259HC
https://dl.doubtnut.com/l/_ZlZfxA6yNA8o


D. -1

Answer: A

Watch Video Solution

60. A square non-singular matrix A satisfies

=

A. I-A

B. 

C. 

D. I+A

Answer: B

A2 − A + 2I = 0,  then A− 1

(I − A)
1

2

(I + A)
1

2

https://dl.doubtnut.com/l/_ZlZfxA6yNA8o
https://dl.doubtnut.com/l/_K7pc4qDizPpm


Watch Video Solution

61. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx =
(x + 1)(x + logx)

2

x

(x + logx) + c
1

3

(x + logx)
2

+ c
1

3

(x + logx)
3

+ c
1

3

(x + logx)
2

+ c

https://dl.doubtnut.com/l/_K7pc4qDizPpm
https://dl.doubtnut.com/l/_mB3HG8gvW5Pu


62. Two functions and  are defined as

follows: 

 


 


then (gof)( e )+(fog) ( ) =

A. -1

B. 0

C. 1

D. 2

Answer: A

Watch Video Solution

f :R → R g :R → R

f(x) = {
0 (xrational)

1 (xirrational)

g(x) = {
−1 (xrational)

0 (xirrational)

π

https://dl.doubtnut.com/l/_gpd6plsqTMBT
https://dl.doubtnut.com/l/_bTppObU9SLta


63. In an entrance examinations there are multiple choice

question. There are five possible answers to each question

of which one is correct. The probability that a student

knows the answer to a question is 80%. IF he gets the

correct answer to the question, then the probability that

he was guessing is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

9

1

10

1

21

1

20

https://dl.doubtnut.com/l/_bTppObU9SLta


64. Find the approximate values of : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cot − 1(1.001)

+ 0.0005
π

5

+ 0.03
π

4

− 0.0005
π

4

− 0.003
π

4

65. 

A. 

∫ex(1 − cot x + cot2 x)dx =

ex cot x + c

https://dl.doubtnut.com/l/_5T2L463HNCJb
https://dl.doubtnut.com/l/_ZYnuFP45UlgR


B. 

C. 

D. 

Answer: C

Watch Video Solution

ex cos ecx + c

−ex cot x + c

−ex cos ecx + c

66. The differential equation of all circles which passes

through the origin and whose centers lie on Y-axis is

A. 

B. 

C. 

(x2 − y2) − 2xy = 0
dy

dx

(x2 − y2) + 2xy = 0
dy

dx

(x2 − y2) − xy = 0
dy

dx

https://dl.doubtnut.com/l/_ZYnuFP45UlgR
https://dl.doubtnut.com/l/_xGkFXN9YuT9c


D. 

Answer: A

Watch Video Solution

(x2 − y2) + xy = 0
dy

dx

67. X is continuous random variable with probability

density function . Then, the value

of  is

A. 

B. 

C. 

D. 

f(x) = , 0 ≤ x ≤ 1
x2

8

P (0.2 ≤ X ≤ 0.5)

0.117
24

0.112

24

0.113

36

0.112

36

https://dl.doubtnut.com/l/_xGkFXN9YuT9c
https://dl.doubtnut.com/l/_8l8j2427dwjI


Answer: A

Watch Video Solution

68. IF , then  at t=2 is

A. 4

B. 2a

C. 

D. 

Answer: C

Watch Video Solution

x = 2at2, y = at4 d2y

dx
2

1

2a

−
1

2a

https://dl.doubtnut.com/l/_8l8j2427dwjI
https://dl.doubtnut.com/l/_F07lYuYsltSG
https://dl.doubtnut.com/l/_c8wmZReFNwZC


69. If the function  


 


is continuous at x=0, then k= . . .

A. 2

B. -2

C. 

D. 3

Answer: C

Watch Video Solution

f(x) = , x ≠ 0
(ekx − 1)tankx

4x2

= 16     x = 0

±2

70. General solution of  istan θ + tan( − θ) = 2
π

2

https://dl.doubtnut.com/l/_c8wmZReFNwZC
https://dl.doubtnut.com/l/_oGTYdyxSgSBC


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

nπ ±
π

4

nπ +
π

4

2nπ ±
π

4

nπ + ( − 1)n
π

4

71. The sum of odd integeres from 1 to 3001 is

A. 

B. 

C. 

15012

15002

15022

https://dl.doubtnut.com/l/_oGTYdyxSgSBC
https://dl.doubtnut.com/l/_g4trBtnDRfRi


D. 

Answer: A

Watch Video Solution

15033

72. The tangent to the curve  at the point (0,1)

meets X-axis at

A. (0,a)

B. (2,0)

C. ( )

D. (-2,0)

Answer: C

y = e2x

− , 0
1

2

https://dl.doubtnut.com/l/_g4trBtnDRfRi
https://dl.doubtnut.com/l/_SXw4VoWt9hfX


Watch Video Solution

73. Let the p.m.f. of a random variable X be - 

 


= 0 otherwise 

Then E(X) is ………… .

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

P (x) =  for x = − 1, 0, 1, 2
3 − x

10

https://dl.doubtnut.com/l/_SXw4VoWt9hfX
https://dl.doubtnut.com/l/_NK7P3pu1026J


74. The function f(x)=  is increasing in the set

A. 

B. 

C. 

D. (1,2)

Answer: C

Watch Video Solution

[x(x − 2)]2

( − ∞, 0) ∪ (2, ∞)

( − ∞, 1)

(0, 1) ∪ (2, ∞)

75. If

 isA(2, 3, − 4), B(m, 1, − 1), C(3, 2, 2) and G(3, 2, n)

https://dl.doubtnut.com/l/_citwxxzld2zA
https://dl.doubtnut.com/l/_XtLBdx2Iupim


the centroid of  then the values of  and 

respectively are

A. 

B. 3,4

C. 4,3

D. 

Answer: D

Watch Video Solution

ΔABC, m n

−4, 1

4, − 1

76. The maximum value of d is

A. e

logx

x

https://dl.doubtnut.com/l/_XtLBdx2Iupim
https://dl.doubtnut.com/l/_8aJq9fs6uuRb


B. 1

C. 

D. 2e

Answer: C

Watch Video Solution

1

e

77. In a binomial distribution the probability of getting a

success is  and standard deviation is 3, then its mean is

A. 6

B. 8

C. 12

1

4

https://dl.doubtnut.com/l/_8aJq9fs6uuRb
https://dl.doubtnut.com/l/_RzQPNQLqmDK1


D. 10

Answer: C

Watch Video Solution

78. IF  then the value of sin 30 is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

sin θ = (a + )
1

2

1

a

(a3 + )
1

8

1

a3

(a + )
3

2

1

a

− (a3 + )
1

2

1

a3

(a3 + )
1

3

1

a3

https://dl.doubtnut.com/l/_RzQPNQLqmDK1
https://dl.doubtnut.com/l/_D9JgXiNX69Ta


79. The vector parallel to the line of intersection of the

planes  and 

is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

→
r . (3 î − ĵ + k̂) = 1

→
r . ( î + 4ĵ − 2k̂) = 2

−2 î − 7ĵ + 3k̂

2 î + 7ĵ − 3k̂

2 î + 7ĵ + 3k̂

−2 î + 7ĵ + 3k̂

https://dl.doubtnut.com/l/_D9JgXiNX69Ta
https://dl.doubtnut.com/l/_uJVFplJmJ5fm


80. IF ,then

A. 

B. 1-p

C. 

D. 

Answer: C

Watch Video Solution

∫
1

e

tan− 1 xdx = p ∫
1

e

tan− 1( )dx =
1 − x

1 + x

1 − p

1 + p

− p
π

4

+ p
π

4

81. IF the equation of the ellipse is 

thenSP+S'P=

+ = 1
x2

a2

y2

b2

https://dl.doubtnut.com/l/_72iWBRZGSoLg
https://dl.doubtnut.com/l/_jxuiOHW5AKW5


A. a

B. 2a

C. 2b

D. b

Answer: B

Watch Video Solution

82. The length of the perpendicular from P(1,6,3) to the line

A. 3

B. 

= = is
x

1

y − 1

2

z − 2

3

√11

https://dl.doubtnut.com/l/_jxuiOHW5AKW5
https://dl.doubtnut.com/l/_HyLF3LMrgm31


C. 

D. 5

Answer: C

Watch Video Solution

√13

83. IF the line  and origin lie on the

plane 4x+4y-kz=0, then k=

A. 1

B. 3

C. 5

D. 7

= =
x − 1

2

y + 1

3
z

4

https://dl.doubtnut.com/l/_HyLF3LMrgm31
https://dl.doubtnut.com/l/_uuAbs7AZ2aR8


Answer: C

Watch Video Solution

84. Minimum value of Z=5x+8y subject to

and  is

A. 36

B. 31

C. 40

D. 45

Answer: B

Watch Video Solution

x, y ≥ 0, x ≤ 4y ≥ 2 x + y ≥ 5

https://dl.doubtnut.com/l/_uuAbs7AZ2aR8
https://dl.doubtnut.com/l/_FhYhk5fQtDTZ


85. In , if the sides are a=3, b=5 and c=4, then 

 is equal to

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC

sin + cos
B

2
B

2

√3 − 1

2

√2

√3 + 1

2

86. Solution of the differential equation

 issin− 1( ) = x + y
dy

dx

https://dl.doubtnut.com/l/_tate01HWzXQA
https://dl.doubtnut.com/l/_DKlZIsqYUQwL


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan(x + y) + sec(x + y) = x + c

tan(x + y) − sec(x + y) = x + c

tan(x + y) + sec(x + y) + x = c

tan(x + y) − sec(x + y) + x = c

87. Find the distance of the point (2,3,4) from the plane

.

A. 9

B. 10

→
r . (3 î − 6ĵ + 2k̂) + 11 = 0

https://dl.doubtnut.com/l/_DKlZIsqYUQwL
https://dl.doubtnut.com/l/_kG8l0JodOeIj


C. 2

D. 1

Answer: D

Watch Video Solution

88. The angle between lines represented by the equation

 are

A. 

B. 

C. 

D. 

11x2 − 24xy + 4y2 = 0

tan− 1( )
−3

4

tan− 1( )
3

4

tan− 1( )
4
3

tan− 1( )
2

3

https://dl.doubtnut.com/l/_kG8l0JodOeIj
https://dl.doubtnut.com/l/_l9Vh5z99T1dV


Answer: C

Watch Video Solution

89. IF  then x=

A. -1

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1 2x + tan− 1 3x = ,
π

4

1

6

−1,
1

6

2

3

https://dl.doubtnut.com/l/_l9Vh5z99T1dV
https://dl.doubtnut.com/l/_cmlWP0SMU8Bq
https://dl.doubtnut.com/l/_2pSaD2eA2Ghj


90. The joint equation of pair of lines having slopes 1 and 3

and passing throught the origin is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x2 − 3xy − y2 = 0

3x2 − 4xy + y2 = 0

3x2 − 4xy − y2 = 0

3x2 = y2

91. IF tanA+cotA=5, then  is equal

A. 520

tan4 A + cot4 A

https://dl.doubtnut.com/l/_2pSaD2eA2Ghj
https://dl.doubtnut.com/l/_YkcMGG78BeWZ


B. 521

C. 529

D. 527

Answer: D

Watch Video Solution

92. Three numbers whose sum is 15 are in A.P. If they are

added by 1,4 and 19 respectively, they are in GP.

Thenumbers are

A. 2,5,8

B. 26,5,-16

C. 2,5,8 and 26,5,-16

https://dl.doubtnut.com/l/_YkcMGG78BeWZ
https://dl.doubtnut.com/l/_LyGwyMe0YByA


D. None of these

Answer: C

Watch Video Solution

93. The area of the region bounded by the lines y = mx, x =

1, x = 2 and X-axis is 6 sq units, then m is equal to

A. 3

B. 1

C. 2

D. 4

Answer: D

https://dl.doubtnut.com/l/_LyGwyMe0YByA
https://dl.doubtnut.com/l/_vEV318y8ZeyS


Watch Video Solution

94. 

A. 0

B. 1

C. 

D. 2

Answer: A

Watch Video Solution

∫
1

− 1
sin3 x cos2 xdx =

1
2

https://dl.doubtnut.com/l/_vEV318y8ZeyS
https://dl.doubtnut.com/l/_kzXVEEINimpr


95. The area enclosed between the curves

 (in square units), is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = x and y = 2x − x2

1

2

1

6

1

3

1

4

96. The solution of is

A. 

− y = ex, y(0) = 1,
dy

dx

y = (x − 1)ex

https://dl.doubtnut.com/l/_dfGuo4rlFawl
https://dl.doubtnut.com/l/_leZd9YEdOO7t


B. 

C. 

D. 

Answer: B

Watch Video Solution

y = (x + 1)ex

y = (2x − 1)ex

y = (1 − 2x)ex

97. For any three vectors

 is equal to :

A. 

B. 

C. 

ā, b̄ and c̄, (ā − b̄). [(b̄ + c̄) × (c̄ + ā)]

2̄a. (b̄ × ē)

[āb̄c̄]

[āb̄c̄]
2

https://dl.doubtnut.com/l/_leZd9YEdOO7t
https://dl.doubtnut.com/l/_Pi4VEjejBypj


D. 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Pi4VEjejBypj

